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Question 1: 

The passage suggests that India's Critical Minerals Mission is primarily focused on: 

 * A. Ensuring a steady supply of critical minerals for domestic use 

 * B. Developing India's mining industry to compete with China 

 * C. Promoting sustainable mining practices in Africa 
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 * D. Diversifying India's energy sources 

Question 2: 

The author argues that India's collaboration with African countries is crucial for the success of 

the Critical Minerals Mission primarily because: 

 * A. Africa is rich in critical mineral resources 

 * B. India has a strong historical relationship with Africa 

 * C. China is also actively pursuing resources in Africa 

 * D. Africa is in need of foreign investment 

 

Question 3: 

The passage suggests that one of the major challenges facing India's Critical Minerals Mission 

is: 

 * A. The lack of political stability in many African countries 

 * B. The high cost of mining operations in Africa 

 * C. India's limited experience in mining and processing critical minerals 

 * D. The competition from developed countries 

 

Question 4: 

Based on the passage, which of the following is NOT a potential benefit of India's collaboration 

with African countries in the critical minerals sector? 

 * A. Access to abundant critical mineral resources 

 * B. Opportunities for infrastructure development 

 * C. Increased geopolitical influence in Africa 

 * D. Reduced dependence on China 
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Question 5: 

The author suggests that India's Critical Minerals Mission should prioritize: 

 * A. Maximizing profits from mining operations 

 * B. Protecting the environment and local communities 

 * C. Establishing a dominant position in the global critical minerals market 

 * D. Developing new technologies for mining and processing 

 

Question 6: 

Which of the following is a potential drawback of India's increasing reliance on critical 

minerals from Africa? 

 * A. Increased vulnerability to geopolitical risks in the region 

 * B. Decreased domestic production of critical minerals 

 * C. Higher costs associated with mining operations in Africa 

 * D. Negative environmental impacts in Africa 
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Answer Key and Explanation  

1. Answer: A. Ensuring a steady supply of critical minerals for domestic use 

Explanation: The passage explicitly states that the mission aims to expand domestic production, 

prioritize recycling, and incentivise overseas acquisition of assets, all of which point to a focus 

on ensuring a steady supply of critical minerals. 

 

2. Answer: A. Africa is rich in critical mineral resources 

Explanation: The passage emphasizes that Africa houses 30% of the world’s known critical 

mineral reserves, making it a vital source for India’s needs. 

 

3. Answer: C. India’s limited experience in mining and processing critical minerals 

Explanation: The passage highlights that India lacks manufacturing capacity for end-use 

components and needs to upskill its labor force, indicating a limitation in its mining 

capabilities. 

 

4. Answer: C. Increased geopolitical influence in Africa 

Explanation: While India may benefit from stronger economic ties with Africa, the passage 

does not explicitly mention increased geopolitical influence as a primary goal of the 

collaboration. 

 

5. Answer: B. Protecting the environment and local communities 

Explanation: The passage emphasizes the importance of responsible practices and minimizing 

ecological impacts, suggesting a focus on sustainability and ethical considerations. 
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6. Answer: A. Increased vulnerability to geopolitical risks in the region 

Explanation: By relying heavily on foreign sources for critical minerals, India may become 

more susceptible to geopolitical instability and disruptions in supply chains. 

 


